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Coding Decoding Questions for LIC AAO, SBI PO Pre, IBPS PO Pre,
SBI Clerk Mains and IBPS Clerk Mains Exams.

Coding Decoding Quiz 45

Directions: Read the following information carefully and answer the questions given beside.

Four friends — Ram, Laxman, Bharat and Shatrughan were having a conversation. They were expressing their
thoughts in a coded language.

Ram says, "le po ki ba" when he wants to convey that "friends make life live". Laxman says, "te ki mo ba" when
he wants to convey that "without friends life impossible". Bharat says, "lo mo se te" when he wants to convey
that "without trouble gain impossible". Shatrughan says, "st ba po lo" when he wants to convey that "life
make trouble joy".

1. Which of the following is most probably the code for "life gives joy"?

A.stlo ba B. ba fo st C.le post D. bafo go E. go mo po

2.  What s the code for "mission impossible"?

A. mo fi B. te fi C. fise D. Either A or B E. Either Bor C

3. What is the code for "live gain"?

A.le se B. ki le C.kilo D. lo se E. None of these

4, What is the code for "life impossible without"?

A.te mo se B. ba mo te C. se ki ba D. ki te ba E. None of these

S. Which of the following is the code for "life without trouble"?

A.lote ba B.lale mo C.sestpo D. mo lo ba E. Either option Aor D

Correct Answers:




Common Explanations :

Reference:

Ram says, "le po ki ba" when he wants to convey that "friends make life live".

Laxman says, "te ki mo ba" when he wants to convey that "without friends life impossible".
Shatrughan says, "st ba po l0" when he wants to convey that "life make trouble joy".
Inference:

From the above hints, the codes for friends life can be obtained as ki ba (irrespective of order)
With the help of last hint, code for 'life' can be obtained as 'ba’.

So, 'friends' will be coded as 'ki'.

Code for 'make’ is 'po'.

Thus the only left word 'live' is coded as 'le’.

Reference:

Bharat says, "lo mo se te" when he wants to convey that "without trouble gain impossible".
Shatrughan says, "st ba po lo" when he wants to convey that "life make trouble joy".
Laxman says, "te ki mo ba" when he wants to convey that "without friends life impossible".

Inference:
From the above hints code for 'trouble' is 'lo.'

The code for without impossible is ‘'mo te'(irrespective of order).
Thus the code for gain is 'se’.

Reference:
Shatrughan says, "st ba po 10" when he wants to convey that "life make trouble joy".

Laxman says, "te ki mo ba" when he wants to convey that "without friends life impossible".

Inference:
As we have already identified the codes for 'life’, 'make' and 'trouble' as 'ba’, 'po' and 'lo' respectively.

So, the only left code 'st' represents "joy".




ANSWERS :

1. From the following explanation the code for 'life gives joy' is most probably coded as "ba fo st". Though
the code of 'gives' is not given but checking the other options we can observe that 'gives' can be coded
as 'fo'.

Hence option B is correct.

Word Code
life ba
friends ki
make po
live le
trouble lo
gain se
joy st

without | mo/te

impossible| te/mo

2. From the following explanation the code for 'mission impossible' could be either "mo fi" or "te fi".
Hence option D is correct.

Word Code

life ba
friends ki
make po
live le
trouble lo
gain se
joy st

without | mo/te

impossible| te/mo

3. From the following explanation the code for 'live gain'is 'le se'.
Hence option A is correct.

Word Code
life ba
friends ki
make po
live le
trouble lo
gain se
joy st

without | mo/te

impossible| te/mo




From the following explanation the code for 'life impossible without' is coded as ba mo te,

Hence option B is correct.

Word Code
life ba
friends ki
make po
live le
trouble lo
gain se
joy st

without | mo/te

impossible| te/mo

Following the final explanation we can observe that the code for the word 'without' could be either 'te'
or 'mo' therefore either option A or D is correct.

Option E is hence the correct answer.

Word Code
life ba
friends ki
make po
live le
trouble lo
gain se
joy st

without | mo/te

impossible| te/mo
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